W Vocabulary

@ Review
1. Cross out the word that does NOT apply to a circle.

arc - b :, cucumference ~ . diameter radius
2. Clrcle the word for a segment with one endpoint at the center of a ¢ircle and the
other endpomt on the czrcle =
: fva"xfc . - cucumference diameter e _bperimetver‘ e : ":Ariadius )

@ Vocabulary Builder

tangent

tangent (noun, adjective) TAN junf

Definition: A tangent to a circle is a line, ray, or segment in the
plane of the circle that intersects the circle in exactly one point.

Other Word Form: tangency (noun)

BA isa tangent ray. BAisa tangent segment.

e
Other Usage: In a right triangle, the tangent is the ratio of the side opposite an acute j

angle to the side adjacent to the angle.

@ Use Your Vocabulary

3. Complete each statement with always, sometimes, or never.

A diameteris _?_ atangent. Q

p ¥ o
N

A tangentand a circle _? have exactly one point in common. A (,U./ /.
Aradius can _?_be drawn to the point of tangency. : ,' ) LL Z
A tangent _?_passes through the center of a circle. : Y\W-ﬂ/‘l ,

A tangentis _?_aray. %%0 W\-O, h W\‘Q\\;

Exump|es‘ In the diagram, 4B is tangent to the circle at B. B is the point of tangency 3

Chapter 12 @
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" Theorems 12-1,12-2,and 123 ’\fﬁz}

Theorem 12-1 Ifaline is tangent to a circle, then the line is perpendicular to the
radius at the point of tangency.

Theorem 12-2 Ifaline in the plane of a circle is perpendicular to a radius at its
endpoint on the circle, then the line is tangent to the circle.

A Theorem 12-3 If two tangent segments to a circle share a common endpoint outside
the circle, then the two segments are congruent.

Use the diagram at the right for Exercises 4-6. Complete each statement.
el
4. Theorem 12-1 If DF is tangent to ©0 at K, then D "L Ok
5. Theorem 12-2 IfDF 1 OK, thens? is tangent to ©O.

6. Theorem 12-3 If BA and BC are tangent to ©O, then Pk = P;C

5118 B Finding Angle Measures ;

od
Got I#? ED is tangent to ©0. What is the value of x? \ E
7. Circle the word that best describes OD. v
dlameter s : Iadﬂ;? T = o /
8. What rela‘uonshlp does Theorerh 12 1 et:ppon7 C]rcle your answer. N

ODiEDD ...+  OD|ED . opoEp

9 CJ_rcle the most accurate descnphon of the tnangle

acute ’::: 1sosceles obtuse

10. Circle the theorem that you will use to solve for x.

Theorem 12 1

11. Complete the model below.

. G measure

Relate is 8_:-‘; plus of LD
P LA

Write + - ; U/

12. Solve for x.

@ 13. The value of xis L'.”//

@ Lesson 12-1




L Finding Distance

Goft 1#? What is the distance to the horizon that a person can see on a clear day
from an airplane 2 mi above Earth? Earth’s radius is about 4000 mi.

k.

14. The diagram at the right shows the airplane at point A and the
horizon at point H. Use the information in the problem to label
the distances.

15. Use the justifications at the right to find the distance.

6? L AH Theorem 12-1
OF 2 + aH? = 0A? Pythagorean 7Theo‘rem
LM)D 24 AH? = H—OOZ 2 Substitute. .
‘\()’ (X)D\m -+ AH2= o, OW, ,CAH‘Use a calculator.
AH? = g, 00¥ Subtract from each side.

=+ I, 00 "f’ Take the positive square root.

AH= |20, 50(;7(“ Use a calculator.

Q 16. A person can see about ’27 miles to the honzon é‘om an airplane 2 mi above Earth.

g Radis

Gof 1#? What is the radius of ©0?

17. Write an algebraic or numerical expression for each side of the triangle.

18. Circle the longest side of the tnangle Underline the side that is opposite
the right angle. .

10 e (3£2)

19. Use the Pythagorean Theorem to complete the equation.

7( 2+ iQ 2=(>(‘-|'(() )2 0{’_

20. Solve the equation forx.

X2 4107 (x e)™
CXEHI00 =y 2hpoy t3b
100 = 12 2o

4= :Lx
SV = -

ot Xﬂﬁy
Chapter 12 @
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N TP NRY Circles Inscribed in Polygons

Got It? OOisinscribed in APQR, which has a perimeter of 88 cm. What is the
length of QY'?
22. By Theorem 12-3, PX = {"Z ,RZ = }Ztg, and QX = G\;, soPX = PZ,

J r ;

RZ =Py, ,and QX = DU

23. Perimeter p = PQ + QR + RP,sop = PX + LG + QY+ \“, + RZ + /F"
by the Segment Addition Postulate. '

24. Use the values in the diagram and your answer to Exercise 23 to solve for QY

Ufa_,lg+ @J(" @j*,-7*9f%~\g 2
: _ ik
8?‘ V/L} «‘r— 2 GI\} e : \CF
; oy
N Lesson Check ¢ Do you UNDERSTAND?
Error Analysis A classmate insists that DF is a tangent to OE. Explain
how to show that your classmate is wrong. El \— 24 f D
Underline the correct word or number to complete the sentence. 7 75

25. Atangentto acircle is para]lel ,/pg(indlculéi‘\to aradius. F
26. If DF is tangent to OF at poth then m £ EFD must be 30(/ 90 / 180
27. A triangle can have at most ‘ right angle(s).

28. Explain why your classmate is wrong.

> AT

Ny AN LA T - /), D
LN COnindt @’-}g,ﬂ.‘{ﬁ;

Mai‘h Success

Check off the vocabulary words that you understand.

[ circle L] tangent to a circle [] point of tangency

Rate how well you can use tangents to find missing lengths.

(313 ] Lesson 12-1




ChordsandArcs 4 | i

T —

@ Review
Circle the converse of each statement.
1. Statement: If [ am happy, then I smg
(/I'f—?smg, thenIam hap;;.) ' : : IfTam not happy, thenIdo not smg

IfI do not sing, then I am not happy.

2. Statement: If parallel lines are cut by a transversal, then alternate interior angles

are congruent. o

: I_fhnes cutbya transversal Iflines cutbyat ttansversal Iflines cut by a transversal form
are not parallel, then  form alternate interior - alternate interior angles that are
alternate interior angles ; angles that are not - : congruent, then the hnes are
are not congruent. - congruent, then the - parallel.

lines are not parallel. -

@ Vocabulary Builder

chord (noun) kawrd " chord RS ’ 3
T S o : - R

Definition: A chord is a segment whose endpoints are
on a circle.

Related Word: arc

@ Use Your Vocabulary

3. Complete each statement with always, sometimes, or never.

Achordis _? adiameter. (S !! ‘! ‘_‘ l W\!S

A diameteris _? achord. Mﬂ%ﬁ_—

Aradiusis _? achord. NNW

Achord _?_has arelated arc. _M\LLMA_
Anarcis _? asemicircle. ; ;ﬂ}j ! !g ! E W g

.

Chapter 12 @
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Theorems 12-4, 12-5,12-6cmc| '_:I'héir'rcbnvvé_rrs_es_

Theorem 12-4 Within a circle or in congruent circles, congruent central angles
have congruent arcs.

central angles.
5. {48 = CD , then 2408 = Z.( O

Theorem 12-5 Within a circle or in congruent circles, congruent central angles have
congruent chords.

s T
6. If L/AOB = £ COD, then AB = ﬁt ‘V C
D

B

Converse Within a circle or in congruent circles, congruent chords have congruent

central angles.

A6y B= ~cop.

7. If AB = CD, then

Theorem 12-6 Within a circle or in congruent circles, congruent chords have
congruent arcs. ) A 7

8.1 48 = (), then 4B = CD .

Converse Within a circle or in congruent circles, congruent arcs have congruent
chords.

N
9. fAB = ('}), then 4B = CD.

\Y VAT SN Using Congruent Chords

Got I#? Use the diagram at the right. Suppose you are given ©0 = OP B D
and £ OBC = /£ PDF. How can you show £ 0 = / P? From this, what else can
you conclude?

10. Complete the flow chart below to explain your conclusions.

—

o= pc= Po= PP

Transitive Property

@ Lesson 12-2



Theorem 12-7 and lts Converse, Theorems 12-8, 1 2-9, 12-10 i

Theorem 12-7 Within a circle or in congruent circles, chords equidistant from the
center or centers are congruent.

Converse Within a circle or in congruent circles, congruent chords are equidistant B¢
from the center (or centers).

e Q
11. fOE = OF then 4B = ([ A‘
D

12. 1645 = (1) , then 0F = Q.

Theorem 12-8 In a circle, if a diameter is perpendicular to a chord, then it bisects
the chord and its arc.

_ e, s b e N
13. If AB is adiameter and AB | CD, then CE = ﬁandCA EA-D
Theorem 12-9 In a circle, if a diameter bisects a chord (that is not a diameter), then A B
itis perpendicular to the chord. W
14. If AB is a diameter and CE = ED, then AB . CD D
’ C
D

Theorem 12-10 In a circle, the perpendicular bisector of a chord contains the
center of the circle. v

15. If AB is the perpendicular bisector of chord CD, then contains the
center of ©0.

o |Z¢15 5798 Finding the Length of a Chord

Got 1#? What is the value of x? Justify your answer. 18

16. What is the measure of each chord? Explain.

Ahs Jl.u\arh of ont chord § 3k
% T ot chord has two scammﬁ
wl lenams 1, 50, by The ¥
L dddiHon poZtwases, it alw has a
17. Circle the reason why the chords are congruent.
((zgds that have e;l‘ai‘) ' gChords that are equidistant from !m@—y‘ O‘P 3 b
Imeasures are congruent. , the center of a circle are congruent.
18. Circle the theorem that you will use to find the value of x.

Theorern 12-5 - Theorem 12-7.550 Converse ofTheorem 12 D
Theorem 12-8 Theorem 12-10 e

19. Circle the distances from the center of a circle to the chords.

16 T ' 36',":; @

20. The value of x is l o

Chapter 12 @
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N\ LR S S Using Diameters and Chords

Got [f? The diagram shows the tracing of a quarter. What is its radius?
Underline the correct word to complete each sentence. Then do each step.
21. First draw twoq chords 1‘( tangents

g—

22. Next construct -one / two 'perpendicular bisector(s).
23. Label the intersection C. It is the circle’s| Centerf/ , chord..

Q 24. Measure the diémeter A radlus 25. The radius is about ‘<mm

SN Finding Measures in a Circle

Got It? Reasoning In findingy, how does the auxiliary BA make the problem A
simpler to solve?

\°

26. BA is the hypotenuse of aright _? , so you can use the _? _Theorem to solve for y.

Lesson Check ¢ Do you UNDERSTAND?

Vocabulary Is a radius a chord? Is a diameter a chord? Explain your answers.

27. Circle the name(s) of figure(s) that have two endpoints on a circle. Underline

the name(s) of ﬁgure(s) that have one endpomt on a circle.
chord - dlameter ﬁ . tadlus_ ' ray deiam !-se'gmexi_t_':i

28. Is aradius a chord? Is a diameter a chord? Explajn.

S B, g
8 A WVCA T A '5.-.,~ (-ﬁls

e ..* ’ ’ 4 {
\ \ V) | ,, =‘ : ’& l“{)? 4
X Math Success
Check off the vocabulary words that you understand.
] circle D chord L] radius [] diameter
Rate how well you can use chords to find measures.
................. et
@ Lesson 12-2



@ Review

Write noun or verb to identify how intercept is used.

1. Defense tries to intercept a touchdown pass. ' : \! W -

2. The y-intercept of a line is the y-value at x = 0. : nW\ '

3. Cryptographers intercept and deéipher code messages. : V M b .

4, The x-intercept of a line is the x-value at y = 0. . r\,m
@ Vocabulary Builder

inscribed angle

inscribed (adjective) in skryBD , 5 .

Related Word: circumscribed i .
Definition: Inscribed means written, marked, or engraved on.

Circumscribed means encircled, confined, or limited.

Math Usage: An inscribed angle is formed by two chords with a vertex on the circle.

@ Use Your Vocabulary

Write circumscribed or inscribed to describe each angle.

Underline the correct word to complete each sentence.

AnSon b}d (:\Y(‘,L_LW\»Cnbtd CleaumSCribe Mﬁcd

9. LABCwith points 4, B, and Con a circle 10. An intercepted arc is between the sides of a(n)
isa(n) circumscribed / inscribed angle. circumscribed / inscribed angle.
e S S & L e

Chapter 12 @
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 Theorem 12-11 Inscribed Angle Theorem

The measure of an inscribed angle is half the m/B = % mAC A
measure of its intercepted arc. B
11. Suppose mZE= 90. 12. Suppose m<ZB = 60. e

maC= 9. - miB = ILD

nes= ) -mic= 46

Y SENEE Using the Inscribed Angle Theorem

Got Ii? In ©0, whatis m/ A?

13. Complete the reasoning model below.

I know the sides of 2 A are chords |
andthevertexison©0,

o ethelncbed e
* Theorem. Sy

: Corollarlesi'oTheorem 12-” lnscnbedAngleTheorem :

Corollary 1

Two inscribed angles that intercept
the same arc are congruent.

Corollary 2

An angle inscribed in a
semicircle is a right angle.

Corollary 3

The opposite angles of a quadrilateral
inscribed in a circle are supplementary.

Copyright © by Pearson Education, Inc. or its affiliates. All Rights Reserved.

¥ &

Use the diagram at the right. Write T for true or F for false.

1 14. £ Pand £ Q intercept the same arc.
F o
F 17.

1 18.
Ns

/.SRP and 2/ Q intercept the same arc.

TSR is a semicircle.

£ PTS and / SRQ are opposite angles.

£ PTS and / SRP are supplementary angles.

& odd 1 be 190°

315

Lesson 12-3



PETSNIS %) Using Corollaries to Find Angle Measures

19. Use the justifications at the right to complete each statement.

Got I? Inthe diagram at the right, what is the measure of each numbered angle? , Oc

mL4 = %( w + 80 ) Inscribed Angle Theorem \ 80°

mi4 = %( \Ho Add within parentheses.

ms4 = 7 0 Simplify.
20. Circle the corollary you can use to find m £ 2.

The opposite angles ofa qi;adrﬂa}éral 2

An angle inscribed in a semicircle
inscribed in a circle are supplementary.

is a right angle.

21. Now solve for m/ 2.
‘MLY% kL7 =180
10 + 2 =130
nZLZ =uD

22. Underline the correct word to complete the sentence.

The dashed line is a diameter / radius .

23. Circle the corollary you can use to find m£1 and m /3.

An angle inscribed in a semicircle ~ The 6§pbéite‘a1_1g1és ofa Quadiﬂatérél :
s a right angle. i - = JInscribed in a circle are supplementary.

Use your answer to Exercise 23 to find the angle measures.

24.mz1=90 25.mz3=90
26. So,ms1 =0J(), mL2 = "O,mLB = qo and m/ 4 =w

" Theorem 12-12

The measure of an angle formed by a tangent and a B B
chord is half the measure of the intercepted arc. D
m/C = % mBDC D
C G
27. Suppose m/C = 50. 28. Suppose mBDC = 80. A

3DC = : = = X/ . mBDC =
mBDC = 2. - m/C lOD m/C /Z mBDC '-{‘o

29. In the diagram at the right, BC is tangent to ©O at B.

mADB = |g‘0 m/ABC = 70

Chapter 12 @
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LY Finding Arc Measure

Got I#? In the diagram at the right, KJ is tangent to © O. What are the values
ofxand y?

30. Circle the arc intercepted by Z/ JQL. Underline the arc intercepted by £ KJL.
0 O S
ythe Inscribed Angle Theorem, mjL = 2_ 35 70
M. :
32. By Theorem 12-12, x = / £ mjL = 26
_ 5 35

31.

33. The value of x is 36
34. Underhne the correct words to complete the sentence.
QLisa dlameter / radlus so £ QJLis a(n) acute / nght / obtuse angle.
P
35. Use the justifications at the nght to complete each statement.
m/QJL + mAJLQ + m£LLQJ = ' ‘go Triangle Angle-Sum Theorem

qo“‘ y+ 35 = I%D Substitute.
y+126= |80 simplity.

@ y= % Subtract from each side.

¥ Lesson Check ¢ Do you UNDERSTAND?
36. Is diameter AC a side of Z A?
37. Is £ Ainscribed in a semicircle? - '?'_:Yrevs‘:

38. What is your classmate’s error? Explain.

Error Analysis A classmate says that mZA = 90. What is your classmate’s error?

wl dm,m 0’" as o snf

N U*a P Gl . LA Yo

¥ Math Success

Check off the vocabulary words that you understand.

[] inscribed angle ] intercepted arc

Rate how well you can find the measure of inscribed angles.
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A Angjl.éfMeosures and
- J Segmentlengths

"‘Vocabulary

@ Review

1. Underline the correct word(s) to complete the sentence.

The student went off on a tangent when he did / did nof stick to the subject.

2. A tangentto a circle intersects the circle at exactly _? _point(s). ! w & g :

3. From a point outside a circle, there are _? _ tangeni(s) to the circle. t ! \_/ 0

@ Vocabulary Builder

secant (noun) SEeK unt

Related Word: tangent (noun)

Definition: A secant is a line that intersects a circle at two points.

Source: The word secant comes from the Latin verb secare, which means “to cut.’

Examples: In the diagram at the right, AB isa secant, AB and BA are secant rays,
and AB is a secant segment.

@ Use Your Vocabulary

Write secant or tangent to identify each line.

S Q’ >

secant  HAnqUiE Secant

8. Is a chord a secant? Explain.

NO 5 @ Secant C@nmmS points Qside
a owaw whilt 0 C\nom dots not.

Chapter 12 @
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_ Theorems 12-13,12:14,and 12-15

el

Theorem 12-13 The measure of an angle formed by msLl = %(x + )
two lines that intersect inside a circle is half
the sum of the measures of the intercepted arcs.

9. In the diagram at the right, does m/2 = —(x + y)'2 Explain.

Theorem 12-14 The measure of an angle formed by two lines that intersect outside a circle
is half the difference of the measures of the intercepted arcs.

10. In the first diagam, the sides of the angle are a secantanda _? .

0p .

=

of Z@w

11. In the second diagram, the sides of the angle are a secantanda _? .

12. In the third diagram, the sides of the angle are a tangentanda _? .

13. Isms1l = —(y — x) equivalentto m£1 = -(x - y)?

Theorem 12-15 For a given point and circle, the product of the 1engths of the two
segments from the point to the circle is constant along any line through the point
and the circle.

[Ene:

Complete each case of Theorem 12-15.
14. Casel a-b=c- d

15. Casell (w+ x)w = ( V + z) \4
16. Caselll (y + 2) V

o

3-8 Finding Angle Measures

Got [? Whatis the value of w?

17. Use Theorem 12-14 to complete the equation. '
10 =20 - [0 A

D

=

o

Lesson 12-4



18. Now solve the equation. 19. The value of wis 250 -
0= Y2(w- 1)
o= W-io
@ aN=W

PETSI ) Finding an Arc Measure

Got I#? A departing space probe sends back a picture of Earth as it crosses
Earth’s equator. The angle formed by the two tangents to the equator is 20°. What
arc of the equator is visible to the space probe?

&

20. Use 20, F, G, and the words Earth and probe to complete the diagram below.

= e b ﬂ )

21. Complete the flow chart below.

Let mFG X Then mFEG —3(00—

The sum of the arc measures is 360°. “

k4

1 '
mLFPG —2— (mFEG m FG

” / Theorem12 147t Sk

#

» () e 2025 (B00-2%)
Csubstitte. O simpliy.

“(;!”’I

gy =lr e 1 19X

Subtract 180 from each Slde Use the Dlstrlbutlve Property.
\{f
WO—

Divide each 5|de by 1.

@ 22. A lw arc of the equator is visible to the space probe.

Chapter 12 @
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, 12153 Finding Segment Lengths ﬂ
14

Got I#? What is the value of the variable to the nearest tenth? ’
Underline the correct word to complete each sentence. -2 16

23. The segments intersect . 1n51de / out31de the circle.
i

24. Write a justification for each statement.

use T hwmn

(14 + 20)14 = (16 + x)16

476 = 256 + 16x WP U
220 = 16x ﬁ LOWAC ! )f Ad J\fd_ﬂ

13.75

I
=

Lesson Check ® Do you UNDERSTAND?

In the diagram at the right, is it possible to find the measures of the z

unmarked arcs? Explain. v
26. You can use intercepted arcs to find the value of y. - ‘ / v‘ : g5°

27. You can use supplementary angles to find the
measures of the angles adjacent to y°.

28. You can find the sum of the unmarked arcs.

29. Isit possible to find the measure of each unmarked arc? Explain.

N T Sm 0F the (mmjzwud Ll

ot Dh gl infp. 4o fin
___eaw wnm&rudQJ’C , AT ul ' o

¥ Math Success

Check off the vocabulary words that you understand.
[1 chord [ circle [] secant [] tangent

Rate how well you can find the lengths of segments associated with circles.
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Circl_ie::s':iih the ™
Coordinate Plane

& D
Vocabulary

@ Review
3 ! iy

Write T for true or F for false.

/r 1. The coordinate plane extends without end and has no thickness.

¢

g ™3 # A S
F 5. The coordinate plane is three-dimensional.
\ 6. You can findthe slopé of aline in the coordiriate plane. '+« * Al

Lok o ‘ L™ | R | boiaig 04 LB
@ Vocabulary Builder .
4 PR ¥ P R Y L4 pe
standard form [noun) stan durd fawrm
Main Idea: The standard form of an equation gives information that can help you
graph the equation in the coordinate plane.

Examples: The standard form of an equation of a circleis (x — k)? + (y — k)? = r2
The standard form of a linear equation is Ax + By = C. The standard form of a
quadratic equationis y = ax? + bx + c.

@ Use Your Vocabulary

Draw a line from each equation in Column A to its standard form in Column B.
Column A Column B

7.y=2x+3 x+y;0 ‘

8.y=%x—2 2x —y= -3

9.y=—x 3x —4y =8 ;

10. 0 =2y — 4x+3 . 4x —2y =3

F 2. Only lines can be graphed in the coordinate pl,ane; Kb &g ;
l 3. Any polygon canbe fjloﬁed in thelcoordinate plane.. | -, 3 A NI AN
F 4.' (0,5) and (5, 0} are the:same point in the coordinate plézﬂé. ShSagare

Chapter 12 ' @
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® Theorem 1216 EquationofaCirde

An equation of a circle with center (k, k) and radius ris (x — 2+ (y — k? =r2. Ly *xy
Complete each sentence with center, circle, or radius. _ I r
11. Bachpointon a _?_ is the same distance from the center. CJ\YC/( b - (h, k)

(x+ 12+ (y — 02 = 6%

12. The equation of a circle with center (—1,0)and _?_6 s r{. u S )

13. Each point on a circle is 7 units from the _? .

14. The Distance Formulais d = \/(xz - % 2+ (yy - 3:5.1 )?

15. How is d in the Distance Formula related to the radius r in the standard equation

of a circle?

T padius i e distance
Conter (n, \c\ 3 (x,q maarcu * isalso

]

ot \r\uooww% a&a dant A W vestices (nik)(x

16. How are the D1stance Formula and the standard form of the equation * (X h ) \/ K)
of a circle alike?

v stendard form-ob quwmon S the
dtb\ance {fo\fmula usmq C:c M\ 00 a uraL Y (N

—

\

B RS Writing the Equation of a Circle

Got If? Whatis the standard equation of the circle with center (3, 5) and radius 67

17. The x-coordinate of the center is" 3
18. The y-coordinate of the center is 5

19. Is the standard equation of a circle (x — h)?> + (y — k> =d Yes
20. Identify the values of &, k, and r.

21. Write the standard equation of the circle with center (3, 5) and radius 6.

- BP+0-5P-(°

22. Simplify the equation in Exercise 21.

(x - .:—3,:-)2 T Ly == ,52)2 = :5(0
@ : Lessén 12-5




e

7033517 Using the Center and a Poinf on a Circle
»

Got [f? What is the standard equation of the circle with center (4, 3) that passes
through the point (-1, 1)?

23. Complete the reasoning model below.

gnow ., & & Need = | Plan = .
(h K)is (’lgﬂ; V[gl). The radius ' = ‘Use the Dlstance Formula :

(-1,1)is a point on the : The standard equationof to find
Clrde e e the circle " _' Then substitute for (7, k)
= : ’ : 'and for
-,

24. Use the Distance Formula to find .

d =0z = Yy 2 + (3, —Y‘ )2 Write the Distance Formula.

@-=}R+a-1] 2 Substitute.
r=\(5 2+(3 ) Simplify within parentheses.
- o m Square each number.
N \/E Add.

25. Now write the standard form of the circle with center (4, 3) that passes through
the point (-1, 1).

-Nr+o- Ky
c-%rH0- BY
Yr+u- 3P

Y 2 Use the standard form of an equation of a circle.
n 2 Substitute.
9 simplity.

\-v,

5] Graphing a Circle Given Its Equation
" i § ¢ # §
Got It? Suppose the equation (x — 7)% + (y + 2)? = 64 represents the position *°

and transmission range of a cell tower. What does the center of the c1rc1e represent? .
What does the radius represent? g ’

Place a v/ in the box if the response is correct. Place an X if it is incorrect.

26. The transmission range is the same distance all around the cell tower.
\/ 27. The center of the circle represents the position of the cell tower.
28. The center of the circle represents the transmission range.

. The radius of the circle represents the position of the cell tower.

HE R |

30. The radius of the circle represents the transmission range.
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Goft [f? What s the center and radius of the circle with E Y
equation (x — 2)? + (y — 3)% = 100? Graph the circle. o |
31. The center of the circle is (2, 3 . // 10
/
 32..2= )00 PN
- 33. Theradius of the circle is l O p \
: ' T @ 3
. 34. Graph the circle on the coordinate plane at the tight. 2 /
\ = i {
—10-8 6420 2 4 6 8 101214
5 -
—4 -4
{ 6
e
@

N¥ Lesson Check © Do you UNDERSTAND?

Suppose you know the center of a circle and a point on the circle. How do you determine

the equation of the circle? ‘
35. Do you know the value of h? ‘No 2 i
36. Do you know the value of k? /No

37. Do you know the value of r? i Yes : :

38. How can you find the missing value?

Use e diStance meﬁfff o 11 Pmd m
Yadigs v of b civde

39. Once youknow F, k, and r, how do you determine an equation of the circle?

Sustbutes {1 Naluts o fiy ngn/ar/

& Math Success

Check off the vocabulary words that you understand.

[] circle [] Distance Formula standard form

Rate how well you can use the standard form of a circle.
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